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Y 2B Fa] =N BF
2 g2 2 g2 2005
[~ 34y, dy e ngps >0 0 B8 1 42 4 2004 200 59 N0 B R
a as az0s =1
Sol:
/{,\al :azz..-:amszl

AAREREK= 1+1+1+--+1=2005
FEXEX= 2(1+1+1+ - +1)=2(2005) = 4010

B ER<HER
HARERBERL

2 fAFREL EHEEFHL vHRRL@ FO)= f-2)+ fu+) 2
F)=1 2 BEE B fO2x+1]) 24 -

Sol:
Su=x+2v=1
fla+2)=fx)+ f(x+4)
Bt f(x+4)=f(x+2)+ f(x+6)
HUE=XE f(x+6)=-f(x)
#  fx+12)=-f(x+6)= f(x) |
FA2x+D) = fA2 =D 41+12) = FA2x-D+D == f1) =1



cx+dy=3 2 2 _
3 REH odxy %a{ ) B {”‘ Ty =3

ex +dy> =16 oxt +dy* =16

ECVE o +dy5-'z'£§ o

Sol:

e vdyd =16 = (ex? +dy D)+ y) - (ex + dy)xy = T(x+y) = 3xy

o +dy4 =42 = (cx3 + dy3)(x+ y) —(cx2 +dy2)xy =16(x+y)—T7xy
x+y=-14,xy=-38

ox° + dy5 = (cx4 + dyA)(x+ )= (cx3 + dy3)xy‘ =42(x+y)-16xy

x® +dy> =42 (~14)-16-(=38) = 20

4~ 41 3] 20035 200 1B & ARET B n B R E A HARGFAREN
Bl n 89 KT REAE B AT 7

Sol:

Bn=1> #ES={1,2,3,..Y.,200} » B 200 —EEK

Bn=2> 4;‘£S={1,2,3,...,200} » B2 200,199 B E

CEon= 134 %S ={1,2,3,...,200} » §1200,199,...,67 & 134 BE - 475% BT R EH

ZFAMAREN N 42 n=135 HARLERT LLGE
HnHRATHRMAS 134



5.4 AABE £E %% ABCD th%Mal » AE=BE ; # F 28, AE + » E EF=AB>

BF=BD s 33k : 44;53-_-_’; .
Sol:
A
2 AB=EF =1 8| BF =2 .
- E
4 L/AEB=2x,BZ =1
HARGL T IF S
BE =2=141%=21c08 2%+ +ereee o)

GE2BI AN AEB TiF

sinx=%=>2sinx=1-+-- NoR

el
éa@‘@/ﬁ%‘l—‘;fﬁ% =1+ 1 _1 2sin” x

4sin®x  sinx

BP 8sin® x —4sin® x—4sinx+1=0
4bﬁi(sini+l)<8sin3 x—4sin? x—-4sinx+1) =0
48 (8sin4 x—8sin? xv+ 1) —(3sin x—4sin® x) =0

Bp (1 —8sin® xcos® x> —sin3x= (1— 2sin? Zx) —sin3x=cos4x—sin3x=0

g

fﬁﬁ’fb?f%sin(%—drszsin%
AEBZ A AEB T o éﬁ’:‘zé<7A—E-=>2x<% . 7% 3x AELA
swxs0Bom<l Tl ax Tl sxnnng
3 6 2 2 T2
75’;\;%%—4x=3x

éimzz:zx:%





